Notes:

Homework is due in lab/workshop.
EMCFO8 was due at 9:00am.

Online Quiz 2 is due at 11:59pm.
EMCF09 is due Wednesday at 9:00am.

Test 2 is tentatively scheduled for Oct. 4 - 6 in
CASA. Use the online scheduler SOON to set
your test time. It should open by 12:01am on
September 20th. -

Review — Differentiation Formulas

41+ g@)=2 e+ L g

dx dx dx
d d d
a(f(-’f)—g(x))= af(x)—zg(x)

d d .
“MJ:‘}M Sa@)=c 1

. o d ]
() g(0)= f()—g(x)+ 20— 1 ()
d [@]: g () - f(x)g'(x)

More...

ix” =nxX"", n#0
dx

ac =0, whenever c is a constant

ale) (o) T qutiend
rule
Review Examples...
/@) ')
x2 -—______? 72X
~2x° —bx”
4x* —2x+5 gx-2
7 @)
-3 -
Vx +3x-1 Lx? r3 or g ¥
E—4x3 +7x 3(’07{1 —2x a7
o or ~— —-:‘— \17‘1 "’7
x




Example: Find the derivative of T(x) = (x3 -2x%— Jr)(x5 -3x+ l)
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Example: Find the derivative of f(x) =
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13 Higher Order Derivatives
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Question: How do we indicate "evaluation" at a specific value of x?
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Example: Determine d_2(3x3 ~5x" +2x - 1)
dx
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Example: Determine —3(3x +2x* —3x—2)
dx
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Example: Give the derivative of f(x) = sin(x) — 2 cos(x)
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3¢ Derivatives of Trig Functions

L] sin(x) = cos(x) %cos(x) = - sin(x)
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Example: Give the slope of the tangent line to f (x) = sin (x )— 2x cos (x)
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at the point where x = 7.
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Other Trig Functions
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